Review of 2.1





Name:

1. What is the approximate mean and standard deviation of the following curves?

2. The army reports that the distribution of head circumference among male soldiers is approximately normal with a mean of 22.8 inches and standard deviation 1.1 inches.  Use the 68-95-99.7 rule to answer the following questions:

a. What percent of soldiers have head circumference greater than 23.9 inches?

b. A head circumference of 23.9 inches would be what percentile?

c. What percent of soldiers have head circumference between 21.7 inches and 23.9 inches?

3. The length of human pregnancies from conception to birth varies according to a distribution that is approximately normal with a mean 266 days and standard deviation 16 days.  Use the 68-95-99.7 rule to answer the following questions.

a. Between what values do the lengths of the middle 95% of all pregnancies fall?

b. How short are the shortest 2.5% of all pregnancies?

c. How long are the longest 2.5% of all pregnancies?

4. Wechsler Adult Intelligence Scale (WAIS) scores for young adults are N(110,25)/
a. If someone’s score were reported as the 16th percentile, about what score would that individual have?

b. What score would someone have in the 84th percentile?

c. The 97.5th percentile?

